oo gobooon

1. 0000000000
Z(t) + bx(t) + cx(t) =0
00000000 b,c0000000z(t)=e0y00000000000000

0000000~y 0O bcOODODOOO

2.001.00000000~y=m,y»00000000000D00D0O00DO00O0OO
(1) + bi(t) + ca(t) = ()

00000000 b,c0000000x() =2()070000000000000
00000000xz(t) =xo(t) + CreMt + Coe»! 000000000000000
00000000C,C, 0000000

3.00000000000000000000 mO0000000000 0000
0000000000000000000000000000000000000
000000A00000000 Fhopy =—-B¢ 0000
Da0000000000
Ob0OO 000000000000000 #(0)=0,#0)=v 000000000

t0000000 z(¢) 00000

Uecboboboooobbboooobbbuooooon

4. 00000000000000000000000 mO0000000000O00
0.,00000000000000000000000000000000000
00000000000000000000400000000 Fygop = —820
000000000 ¢g0000
00000000000
ObOOD 000000000000000 20)=0,40)=0000000000

t0000000 2(4) 00000

UcdObboooobobboooobbbuoooooo
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lhttp://www-het.phys.sci.osaka-u.ac.jp/~yamaguch/j/class.html|
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